Tipologia serramenti da sOStItUIre (indicati in rosso)

B@E

3,02

0,65

237

2,08

0,65

1,43

0,95

\\ anta
apripibile

movir nte,

a ribalta

anta
apribibite
pon
Eﬁ::g@:ﬂc
a ribalta

sottofinestra con
elemento radiante

2,08

@®

0,65

1,43

0,95

f |
movime ﬁ |

a

ar

e
apribibilé
ax\o:\‘
» vimento

ribalta a ribalta

sottofinestra con
elemento radiante

2,08

0,65

1,43

| elemento
fisso

sottofinestra con
elemento radiante

3,03

0,65

2,08

0,65

1,43

0,95

\x

movimen{o ¥pc< imento

a ribalta . a ribalta
elemento fisso

sottofinestra con
elemento radiante

elemento
fisso

Numero Dimensioni

1
2
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7
9

(3,02x0,90)+(2,08x 1

9

25) =

(2,08x2,67)=5,55mqx 2=
(2,08x3,08)=6,41 mqx 3 =

(2,08x2,62) =
(2,08x1,95) =
(3,02x0,90) =

TOTALE

Superfici
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